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oIl &l OHLY AICHHI 10,0002 %40 %3 %43 4,800,000 2

— Q2IMEI0I& AlCHYI 10,00081+40% %25t 800,000 &
— Q2IVENOI& QI H| 400,000 x28¢D] 800,000 &
— SRIEI0l 2% ATHI 10,0002 402 *63] 2,400,000 &
— A& 24AIH| 200,0002 231D 400,000 2
© M BN L SEXR
—DHE2IA #A 1,835)H%12,0002 22,020,000 &
— HIGI &4 900JH*10,0002 %23} ] 18,000,000 &
— NIED| LIS & A 2601100,0008 2,600,000 2
— BMEE 5004%10,0008 %250 1,000,000 &
— HIEtD| 3TH*1,000,0002 3,000,000 &
— WD 304%400,0002 1,200,000 2
— 012 HIE 150Kl E%20,0002 3,000,000 &
~NAES EE22 200,0002+63] 1,200,000 2
— HHAEIR SASUH A 84DH545,0002 %25t ) 7,560,000 &
— ®X+ X 10CH+100,0008! 1,000,000 &
— W AES X228 1182*451+30,0008 14,160,000 &
— SASHYI| £ 160,00021 12742 1,920,000 2
@ WAMET SIS YDV T2
— AEFEHIOIZ ZAIE 75,0008 %2 A1 20%1235 %251 )] 3,600,000 2
— AEFEBIOIZ AlTHY| 10,00081%20% %28t 400,000 &
—JISD NS SIS YLER S SAE 75,0008 900,000 2
—JISD NS SIS YLES S AHY| 10,0008 3,000,000 &
— AYE B BISI| TR BAR 75,0002 33/ *1( 4,500,000 2
—2YE B US) TR HLTQE 30,0008+ 1,800,000 &
— AYB S BSI| TR ATHHI 10,0002 *458 #2 900,000 &
— HORSE LA 75,00021%2A12r%108%25¢ D] 3,000,000 &
~ HORSUE AU 10,0008%20%+25 )] 400,000 2
— AHAMS A DS AALE 75,0002 +2AI 23014 1,800,000 &
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Jio

20193 A H

20193 A H

DXIZ Glath | 1x=Y ooty | SABH Az 2 o
o 2 = (A) (8) S

—AHAM= AJ|Ds NHEBX2H| 15,000& *2Al 120,000 &

—AHAM= ADJ|NE A2FH| 300,000 *43] 1,200,000 &

—AMHAM= AD|W= AHE] 10,000 %15 %43 600,000 &

(5 A A SHAEFHIE] ]

e EED

— W= 2 3L HEY 2% * 90,000 180,000 &

— AMEAN =24 2 2HY| 70" * 32,000 * 25| 4,480,000 &

— MEAOT 24| 709 * 25,000 * 28t D| 3,500,000 &

—MEADNE ZZ0 29 63 * 150,000 * 28| 1,800,000 &

—MNEA DS ZZOH 2Y9 65 * 70,000 * 28] + 1,290,000 &

— 2 A& E 24H|93] *» 400,000 * 2sH)| + E2=1 8,820,000 &

(AZxDEe]

© HESESNAANY SHREYSHL

—HHESIEH £26,000,000&+dI=& S 17,000,000 +E| 59,000,000 &

© AJlAagsMEGD

—QI2AIE0SSLEHIUNH S stMEEZ 100,000 60,000,000 &

® FHD=H SAAMEE |, 11) 17 2 204 2, ~2,540,000 &

& FANSNAT A HEES 17 25 St g 9,900,000 &

W EHDEH (S S=25 % B20{0 AL DA 2,500,000 &

m AZXRDSHE JIEISHMAY| 2XF =8 SN

BB ARXENE OIS AAIY JIEIEA A 2 23,450,000 &

— AD|4=HStMEEZ J|EISTMAY| 2XF =H SH 12 12,000,000 &

W] A ACHHIE] QAR MM U QIA S J|E}BIALZ 1,100,000 &

m BHA 2 BTSSY 22| JIESMAY| 2XF =4 2 -10,000,000 &

W A AET BB 2% X E ol

— BHMSHAIGBH R ME D= D|EISHMAY| 2XF =3 S92 2,000,000 &

M AMMBRYDSH DT R IE 1 J|EE M ) 5,600,000 &
SH| 1,146,535,000 <&

4330 2 Al &t2l ] 1,478,160 1,473,420 4,740 1,478,160,000
|4331 590,500 565,000 25,500

50/61




20193 A H

20193 A H

n; = 29U U1 = A 2HOH ~
2X = Ol | 1REFE O At A o MNEZHA = 9
o 2 = (A) (8) S

NS
@ g2l A=Y
—EHM=E: =AlI-THRI=081 6,000,000 6,000,000 &
— =58 AL H2I=81 20,000,000 20,000,000 &
— &5 HA-FII2E 9,000,000 9,000,000 &
— &5 H 1,000,000 1,000,000 &
— IS AL THRI=01 162,000,000 162,000,000 &
— HOt=E HAI-=II2E 24,000,000 24,000,000 &
— Hot=S A 11,000,000 11,000,000 &
— EHI NS =CF 2= AL THRI= 21 99,000,000 99,000,000 &
— U= FAI-FILEE 68,000,000 68,000,000 &
— EH| &S =2l 14,000,000 14,000,000 &
— 8ot =S = Al-TH2I= 8! 30,000,000 30,000,000 &
— dEOH =S FAI-FII2E 17,000,000 17,000,000 &
— &t =Y B2 3,000,000 3,000,000 &
— 3|9 =G = Al-THRI=081 7,000,000 7,000,000 &
— 3o =S: HA-FII2& 4,000,000 4,000,000 &
© Uaustd A=<
— =M =2 10Z€*100,000& 1,000,000 &
— 2= =2 30Y*1AI2HE*100,000& 3,000,000 &
—Hot =Y HERIA 10€%100,000& 1,000,000 &
— Hot =2 A, HE &I 60€*200,000& + =] 4 21,000,000 &
— &l - & =Y MI| 2568 +53%x200,000& + =J]| - 34,000,000 &
— 39 =& &I 15Y%x63/%x200,000& + =J| 15H*4 30,000,000 &
m S22 A=Y 2% =F =8
—EM=Y 22X =& 2 -2,800,000& -2,800,000 &
— B4 2% =& 2% -18,700,000& -18,700,000 &
— MEOHU =S 2XF =8 & 55,000,000 55,000,000 &
— 3o =Y 2X =& &M -8,000,000& -8,000,000 &

Al 590,500,000 &

4332 887,660 908,420 A20,760

Al FHI (st LAlIZHI]
@ Al-HUS DE E2H|
— SIS AIEHS] 25,000,000 25,000,000 &
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o = IEEEEEIFEEEEER = >t on
- OXIZA Ol A | 1XIEA Of AbY ey NEED 2o
= g = (A) (8)
—olEtelE g el 3] 25,000,000 25,000,000 &
— A AlErEEE &M 2 29| 17,000,000 17,000,000 &
— FMAISEE &I 2 22| 15,000,000 15,000,000 &
— M2AXZ D 30,000,000 30,000,000
— EBSTAHZ T 45,000,000 45,000,000
— e X SZD 15,000,000 15,000,000 &
—HHXIE, AT 2D 20,000,000 20,000,000
— B2 DK 3, JIEFZ D 15,000,000 15,000,000 &
® 3|2l
— 2 &8 22 10,700,000 10,700,000 &
— SIS ZESIEE B 10,000,000 10,000,000 &
—o& 2 AD DA 2RIEA 5,000,000 5,000,000 &
— WALKI2EH31 9] 2,000,000 2,000,000 &
® ARYEt LA
— 2822 AR 10,000,000 10,000,000 &
— TAE BHE 15,000,000 15,000,000 &
— Z=QAFE HIT 10,000,000 10,000,000 &
— ®EOHYAE MA 10,000,000 10,000,000 &
S I=E PN
—olspZz 0 KX 24 30,000,000 30,000,000
— AJIE X 24 3,000,000 3,000,000 &
— AMEA 222 140,000,000 140,000,000 ¥
— JIEFLAIZ 223 10,500,000 10,500,000 &
® Al-BQISH O OIMH|
— 2 AIRE Q2 65,000,000 65,000,000
— 2 AIZQAMEIE X 3,000,000 3,000,000 &
— 2 AIZAE 5,000,000 5,000,000 &
— HAIDE L2 40,000,000 40,000,000
— HAIZQAFEEX 3,000,000 3,000,000 &
— ®HAIEAE 5,000,000 5,000,000 &
— BURE Q2 10,000,000 10,000,000 &
— JIEFRI4HHI 10,000,000 10,000,000 &
©® U2
— }E322 2,500,000 2,500,000 &

@ ADZH|
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o = 201931 AISTE | 20193/ H0E = 1 ot oH
- 2X=E Ol At | 1XEEE O At K R MEZA = A
o 2 = (A) (8) S

— =AAE2E 15,000,000 15,000,000 &

— JANLEZ 14,000,000 14,000,000 &

—BHAAEZE 5,000,000 5,000,000 &

— JIEt22Z 5,000,000 5,000,000 &

— Helsts =9 H& 4,000,000 4,000,000 &

- —?—%59% 1,000,000 1,000,000 &

— S8 K3 3,500,000 3,500,000 &

—AMEAE S22= 27,000,000 27,000,000 &

@ AlY|

— == AlAHl & 2HA 62,000,000 62,000,000 &

— FAIAIHI 2 2+AL 33,000,000 33,000,000 &

— B QAIH 2 2+A! 3,000,000 3,000,000 &

— JIEFAIHI 5,000,000 5,000,000 &

@ st DA G WX 01|

—==AlduW 2= 5,000,000 5,000,000 &

— dAJW g2 5,000,000 5,000,000 &

— HJl& 2= 3,000,000 3,000,000 &

— g &%=, &r&gsl & 68110912 +5,000,000 50,000,000 &

© =Xtz

— =Xt& 300,000 300,000 &

© ANEMNEZ

— stda |2t AIZAFE 2 50,000,000 50,000,000 &

@AY

— 2d9t4l8, sdlg = 5,000,000 5,000,000 &
(CHEtRAWEHH AAIZH]

— =ALEA & E 43x800,000& + =IO &MY 5,200,000 &
(NE2EMNSA LAIZH]

© 2d2 = 29|

— AICH 10,0002 «8H *43] 320,000 &

— 2|28l 100,000 *1H*43] 400,000 &

m] st LAIZH 2X =8 &8

— =84 2X% =& ZH -2,000,000& -2,000,000 &
— 3ol 2Xxt =& ZH -9,500,000& -9,500,000 &

— APz DX T 210 -6 000,000& -6,000,000 &
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o = 20193/ IS | 20193 A& = roron
- OXtZ=A Ol A | 1K= Ofl AboY o) A=A =
& g = (A) (B)
—OIMHl 2Xf =& =% 16,000,000 16,000,000 &
— AQEY| 2% =F 2% -9,000,000L ~9,000,000 &
—ZIZQ2 2% =B = 1,500,000 1,500,000 2
— AlH| 2% = 2094 -8,000,0002 ~8,000,000 &
— OlHl 2% 2= 2t -6,500,0002 ~6,500,000 &
— ANEARE 2% 2 2t —2,000,0008 ~2,000,000 &
m ISt S WS A2 DA (HESZ) (15t
— [Q2OIQEtME] BE DA 180,000 * 42 * 23] 1,440,000 2
— [Q2oIgstMB] M2 A AN 100,000 * 4 * 23] 800,000 &
— [Q2olsME] YME L 150,0008 * 2% « 23] 600,000 &
— [Q20IYUEME] ME A 150,0008 * 4% « 23] 1,200,000 &
— [Q=olost B ] 5 O/H| 10,0008 * 52 * 43 200,000 &
—[QZolstME] QUME 1,0008 * 500 500,000 &
B 887,660,000
4400 D2oIHI= 346,406 882,001 535,595 346,406,000
4410 XIZ0I Xt 343,265 879,000 535,735 343,265,000
4411 343,265 879,000 535,735
WELB ® WM XYU2 0| KHAFEH: 879,000,000 879,000,000 2
mHRH U222 (HISZ25H) NS0IK 2% X2
— XX 2 EI| ALEF X 20| X & BHEt —535,735 ~535,735,000 &
B 343,265,000 ¥
4420 JIEt DS AHIE 3,141 3,001 140 3,141,000
4421 3,141 3,001 140
SN ® Z2H(HSHHIESZ) =X 1,000 1,000 &
® WX (HEHI S22) JIEI& 24 2,000,000 2,000,000 &
® WSt DS (HSHAHSZ2) ZHLE DX 2A
— A2 B2 500,000 * 2J43 D] 1,000,000 &
W A DSS(AON DI A X = M 1 140,000 2
B 3,141,000 &
4500 M= — — - —
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o = 201981 A E | 201981 A S = >t on
OXHEY OllArY | 1XHEDY Ol abeY . B2 2
o 2 = (A) (8) S
4510 M3 - - - -
4515 - - -
SEsEES
BHII: -
4516 - - -
DUREZ
B -
4600 01t Bl 151,085 151,085 - 151,085,000
4610 Of[HIH] 151,085 151,085 - 151,085,000
4611 151,085 151,085 -
WETE] ® )= HHISS2) HSHIS=33I7 olbibl: 49,611 49,611,000 2
@ JIZH(HIS=2) HeFHS=28H ol 21,186,000 &
@ JIHH(HSS2) NSZYDSASESIT ol 2 24,135,000 2
® 2 H(HISS2) HErL Y3 oiblbl: 17,610,000 17,610,000 &
® I H(HISZZ) IHASESIH 6ibIbl 17,720,0( 17,720,000 2
@ JIEH(HS=3) #AYYDSASESI oYl 17,459,000 &
®JIEH(HISSS) L Y3 olblbl 1% =Y = 9,000 &
@ JIZH(HIS=3) HAAL olUlyl 1% =Y S 1,194,000 &
® JEHHISZ2) IISAISSE oibibl 1% 5 259,000 2
®JIEH(HISS3) MABLUDSASLE oYl 1 483,000 &
¢ JIENLIS=3) NEBLDSA=L5 oty | 266,000 2
@ JIEH(HIS=3) LHIISS oUILl 1% =B 5| 812,000 2
@ JEH(HISS2) HeALS=23 oIBIbl 1%t 2 341,000 &
= JIAA(BIS23) URYIS=S 810 0YY) 2% =2 ~13,600,000 &
W OIS (HSS23) e g olulyl 2 £Y S 1 13,600,000 &
8ll: 151,085,000 &
1200 EXPIEIRAIKIE 6.999.880 | 14,505,776 | 7,595,896 6,999,880,000
1220 EXXLAXIE 340,000 825,001 485,001 340,000,000
1229 340,000 825,001 485,001
JIEFERERHRI & © HWRHM(HHSrLY) YHSSZ 42 100,000,000 100,000,000 &
® MEH(HBHIS=2) BSEX 1,0008 1,000 &
& HSAESLH IS RS 1K £B SU: 725 725,000,000 &
® NS H JEIS XA HIS223IH) JESIX
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= 20193 A | 20195 A = >
- OXtZH Ol A | 1XEE o ArY ) 29
& g = (A) (B)
T =% 109,999,000 109,999,000 2
W S ERH (st ae|(jaeyS=22) )
— JIEFE K AX E ~725,000,000 ~725,000,000 &
HOAHUSEX R JIEHE KA
0,000,000 130,000,000 &
340,000,000 &
1240 JIEFRHAN K| = — _ =
1242 - -
AREE=2IE
1243 _ -
=001 2 X1 &
1249 ~ -
IIEFKH A X =
=)2=g 3,500 - 3,500,000
1252 - -
e E=b]
- 9
1253 _ -
A2PEHZE) 2HY
-«
1254 3,500 -
DU EXE)| 2 W W2 HEHIS=25H )22 HISE25H) S
— MI20IXE 2 3,500,000 3,500,000 2
3,500,000 &
1255 - -
JdopzEsxN= |
-2
1260 LoD 2= & 6.656,380 13.770.775 ~7.114.395 6.656.380.000
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E X 04l

SAE &5 EXPY 1% 57 B

2| 22 XI: 991,000,000&

= 20193 A | 20195 A
- OXtZH Ol A | 1XEE o ArY 29
& g = (A) (B)
1262 139,000 139,000
QoI 2 ® M H(EHIES2) W20IX =& 139,000,000 139,000,000 &
BHI: 139,000,000 &
1263 1.680.855 1.680.855
Qo A=) 2HY HEHIS=2) 0201 X =& 773,420,000 773,420,000 &
stHS=2) M2-0IA =2 311,000,00 311,000,000 &
(HEHHIS=2) Yo H=I|2XE: 596,435 596,435,000 2
BHI: 1,680,855,000 &
1264 200,210 200,210
olo| &5t 2XE ® isre ™2 e Yo|&st)|2 =2l 200,000,000 200,000,000 2
® WA (HEHISZ2) HI20IX =2 210,000 210,000 &
BHI: 200,210,000
1265 = —
olojg|x )| 2R
BHAI: - g
1266 4,636,315 11,750,710 A7.114,395
oloEx=5) @ et MI|2E Ao SN HI|ZHE (e EI|E 345,004,000 &
® MeH(eHs=2 DEINEII2 H20IX 2 30,300,000 &
® WeH(eHE=2 OITlEE (O 20| X X3 391,000,000 &
® WX eHsE=2 22(HISZ231H) ¢ 10,984,406,000 2
m e ety sS=2 2L(HIS=25IH) ¢ -7,114,395,000 &
BHI: 4,636,315,000 &
] = 8,074,333 8,117,828 8,074,333,000
DR AOH K| = 8,074,333 8,117,828 8,074,333,000
1311 5,791,000 5,791,000

991,000,000 &
4,800,000,000 &
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20193 A H

20193 A H

n; = 29U U1 = A 2HOH ~
2X = Ol | 1REFE O At A o MNEZHA = 9
o 2 = (A) (8) S
—dMEERA 5 SMEH D&s 40,000,000 &
m A2 HEHISE 23 A LAl 22| At D]
—HASHAY CIR2Y S IATFESMS AL -326,095,000 &
m St A SR (HSBISE23H nsAPSHL
—dMEERA ADE SHOIX HE 217,000,000& 217,000,000 &
— MEHEEC DS AL A AE D& 35,000,000 5,000,000 &
— MR Y OIED| B St A2 BEAI AR 23 60,000,000 &
Bl 2,047,517,000 &
1315 35,814 35,214 600
01 S0y @ iste®II2E EIJIHIZE e 10,000,000 10,000,000 &
© WAL HIIHIS
— =42 HED] 30,0002 *80CH 2,400,000 &
—AEE HED 3,270,0003*1CH 3,270,000 &
© MO HMNER QUS| AEE 8J1x198,00( 1,584,000 &
@ UHesEA=Rc ZI|HI S0 1xF =8 S 17, 17,960,000 &
m S AMFRC NSAHARASZINHH U S 3,000,000 &
@ BHA IS BTS2 22| EIIHIEZEHER 2K =& -2,400,000 &
2| 35,814,000 &
1316 - - -
et
BHAl - #
1317 - - -
C MY
Bl - &
1318 - - -
SEAS S
BHAl - #
1319 - - -
HEIHE ® AEZ22IX HSHHIS 223 H e NSATAIE(
— Z2AIS2H, 22 ¢ J|EP§ g, 2E 22 3,7 3,729,425,000 &
@ AMEZ2IX HEHISE23H S uNsHTPAA( -3,729,425,000 &
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o = 20193 eI | 20193 HH S ——
- QX Ol AMH [ 1XHEY Of AFH CEA—E)_l =
= g = (A) (8)
B - 2
2000 D& SR A S 27,615,000 27,769,000 A 154,000 27.615,000,000
2010 ZJ| XIS 2 AL & 27,330,000 27,330,000 — 27,330,000,000
0221 27,330,000 27,330,000 -
x| X 2 Atk ® WX (CHEH 65,500 4,165,500,000 &
@ WX ety 23 23,164,500,000 &
2| 27,330,000,000 &
2220 J|EF DA S Al & 285,000 439,000 A 154,000 285,000,000
0221 285,000 439,000 A 154,000
aEs28z ® Z2H(HetEd) AU 2 100,000,000 100,000,000 &
® E2X(0styS=2) B 1,000 &
® E2H (0 s=2) o =27 =0
— DA AYRS2 B2 4,999,000 &
@& UANMSD A E S22
— 0F$4Z: 100,000,000 100,000,000 &
@& USAERH AUBS2S2 1X =8 SH: 234,0 234,000,000
mE2H(HSHSER) ANLS 282 24 =8 B9 80,000,000 &
W SAERH AUHESS2S2 2% =8 2H: -234] -234,000,000 &
8| 285,000,000 &
2229 - - -
JIEF DA ST o Al
20 - 2
X 2 X = g J 88,718,194 97,865,693 A9,147,499 88,718,194,000
IESNEREN - - - -
1100 DI LSS X4 - - - -
1110 - - -
SsEx2
B - 2
1120 - - -
JIEFR S KA
B - 2

2100 )|

SS2M

[2120

60/61




o = 20198 | 201981009 | -
oXIEY Ol | 1RFY ofgtey | TS aE2A 2 o
& ¢ = (A) (8) S
=2
BH: - @
2130 - - -
M43
BH: -
2140 - - -
JIEFR S =AM
B : - @
= X = =7 88,718,194 | 97,865,693 | A9.147,499 88,718,194,000
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